
MATH 1850 Sec 011 and 012

CALCULUS I

QUIZ 3
September 14, 2010

Name (Last, First)

1. Find the limit

lim
x→−5

x2 + 3x− 10

x+ 5

limx→−5
x2+3x−10

x+5

limx→−5
(x+5)(x−2)

x+5

limx→−5(x− 2) = −5− 2 = −7

2. Find the slope of the curve at the given point P .

y = x2 − 2x− 3, P (2,−3)

f(2) = 22 − 2 · 2− 3 = −3

f(2 + h) = (2 + h)2 − 2(2 + h)− 3 = 22 + 2 · 2 · h+ h2 − 4− 2h− 3 = 2h+ h2 − 3

f(2 + h)− f(2)

h
=

2h+ h2 − 3− (−3)

h

=
2h+ h2

h
= 2 + h

Now limh→0 2 + h = 2. Therefore slope of the curve at that given point is 2.


